
METAL DRAWER GUIDE

0'
 - 

0 
1/

8"
0'

 - 
5"

0'
 - 

0 
3/

8"

0'
 - 

1 
1/

2"

STUD WALL

CONSTRUCTION

PLASTIC LAMINATE DRAWER FACE

*SEE SECTION A1 FOR TYPICAL KEYNOTES AND DIMENSIONS AT THIS SECTION

CABINET PULL AS SCHEDULED

STUD WALL

CONSTRUCTION

U
.N

.O
. O

N
 E

LE
V

A
TI

O
N

S

S
E

E
 C

A
B

IN
E

T 
D

IM
E

N
S

IO
N

S
 L

E
G

E
N

D

IN
 E

LE
V

A
T I

O
N

0'
 - 

4"
 T

Y
P

. U
.N

.O
.

3" MIN. #10 DIA. SCREW WITH A SURFACE
BEARING HEAD MAX SPACING AT 16" O.C. 6"
W X 16 GAUGE GALVANIZED STEEL PLATE
SECURED TO A MINIMUM OF 3 STUDS WITH 2
#10 SELF TAPPING SCREWS AT EACH STUD

PLASTIC LAMINATE DOOR FACE

2X4 WOOD BLOCKING2X4 WOOD BLOCKING

CONTINUOUS WOOD BLOCKING

CONTINUOUS WOOD BLOCKING

MELAMINE BACKER PANEL

PLASTIC LAMINATE SHELF WITH 3/4" CORE 
WITH 3MM EDGE BANDING   

U.N.O. IN PLAN 

SEE CABINET DIMENSIONS LEGEND

CABINET PULL AS SCHEDULED

BASE AS SCHEDULED

3" TYP.

W/ 3MM EDGE BANDING TO MATCH 
PLASTIC LAMINATE

AE530

F6

MULTIPLE HOLE WITH METAL PINS SHELF SUPPORT

TYP.

1'-6" TYP.

1/2" SOLID SURFACE POLYMER COUNTERTOP 
ON 3/4" CORE  

1/2" SOLID SURFACE BACK & SIDE SPLASH 

IN
 E

LE
V

A
T I

O
N

4"
 T

Y
P

. U
.N

.O
.

1/4"

STUD WALL

CONSTRUCTION

0'
 - 

4"

0'
 - 

0 
3/

8"

METAL DRAWER GUIDE

PLASTIC LAMINATE DRAWER FACE

E
Q

E
Q

E
Q

E
Q

*SEE SECTION A1 FOR TYPICAL KEYNOTES AND DIMENSIONS AT THIS SECTION

CABINET PULL AS SCHEDULED

SOLID SURFACE POLYMER EDGE WITH 1/4"
EASED EDGE PROFILE

1/2" SOLID SURFACE POLYMER 
ON 3/4" CORE 

1 
1/

2"

1/2"

1 
1/

2"
3/

8"

1"

SOLID SURFACE POLYMER EDGE
WITH 1/4" EASED EDGE PROFILE

1/2" SOLID SURFACE POLYMER
COUNTERTOP ON 3/4"CORE 

3MM EDGE BAND

PLAM

SOLID SURFACE POLYMER EDGE
WITH 1/4" EASED EDGE PROFILE

1/2" SOLID SURFACE POLYMER
COUNTERTOP

1 
1/

2"
3/

4"

ON 3/4"CORE 

1 7/8"

3MM EDGE BAND

PLAM

STUD WALL

CONSTRUCTION

5 1/2"

MELAMINE BACKER PANEL

2X6 WOOD BLOCKING

2X4 WOOD BLOCKING2X4 WOOD BLOCKING

TY
P

.

0'
 - 

4"

GROMMET PLACED IN FIELD

SOLID SURFACE POLYMER 
COUNTERTOP WITH SOLID 
SURFACE BACKSPLASH

PLASTIC LAMINATE DOOR FACE WITH 
3MM EDGE BANDING

TYP.

3"

SCHEDULED BASE

2'
 - 

10
"

2'-6"

ICE MAKER PLUMBING

ICE MAKER  FILTER, COORDINATE IN FIELD 

WITH REMOVABLE PANEL 

3" MIN. #10 DIA. SCREW WITH A SURFACE
BEARING HEAD MAX SPACING AT 16" O.C. 6"
W X 16 GAUGE GALVANIZED STEEL PLATE
SECURED TO A MINIMUM OF 3 STUDS WITH 2
#10 SELF TAPPING SCREWS AT EACH STUD

CABINET PULL AND LOCK AS SCHEDULED

CONTINUOUS WOOD BLOCKING

STUD WALL

CONSTRUCTION

SOLID SURFACE SINK, SEE 
CASEWORK SCHEDULE FOR SINK 
TYPE PER ROOM

1/2" CORE WITH PLASTIC LAMINATE
FINISH             WITH 3MM BANDING 
- HAFELE KEKU CLIP TO BRACKET

2'
-3

" M
IN

.

9"
 H

O
LD

8" HOLD 10" 6"

SCHEDULED BASE 

RAKKS SINK BRACKET
PROVIDE 18GA. STRUCTURAL STEEL STUDS 
WITH CONTINUOUS BLOCKING @ EACH 
BRACKET PER MANUFACTURES 
INSTALLATION INSTRUCTIONS.

3" MIN. #10 DIA. SCREW WITH A SURFACE
BEARING HEAD MAX SPACING AT 16" O.C. 6"
W X 16 GAUGE GALVANIZED STEEL PLATE
SECURED TO A MINIMUM OF 3 STUDS WITH 2
#10 SELF TAPPING SCREWS AT EACH STUD

IN
 E

LE
V

A
T I

O
N

 

4"
 T

Y
P

.  
U

.N
.O

. 
2'

-1
0"

1/2" SOLID SURFACE POLYMER 
COUNTERTOP ON 3/4" CORE 

1/2" SOLID SURFACE POLYMER BACK & 
SIDE SPLASH, U.N.O. ON ELEVATION

1"

U.N.O. ON ARCH PLANS

2'-1"

1/4"

CONTINUOUS WOOD BLOCKING

REFER TO ELEVATIONS FOR 

LOCATIONS WHERE SIDE AND BACK 

SPLASHES ARE NOT INCLUDED.

V
E

R
IF

Y

U
.N

.O
. O

N
 E

LE
V

A
TI

O
N

S

S
E

E
 C

A
B

IN
E

T 
D

IM
E

N
S

IO
N

S
 L

E
G

E
N

D
2 

1/
2"

U.N.O. IN PLAN 

SEE CABINET DIMENSIONS LEGEND

PLASTIC LAMINATE FASCIA

3" MIN. #10 DIA. SCREW WITH A SURFACE
BEARING HEAD MAX SPACING AT 16" O.C. 6"
W X 16 GAUGE GALVANIZED STEEL PLATE
SECURED TO A MINIMUM OF 3 STUDS WITH 2
#10 SELF TAPPING SCREWS AT EACH STUD

PLASTIC LAMINATE DOOR FACE

PLASTIC LAMINATE SHELF WITH 3/4"
PLYWOOD CORE

2 X 2 CONTINUOUS ANODIZED ALUMINUM
ANGLE

MELAMINE BACKER PANEL

MDF GUSSET BACKER

3" MIN. #10 DIA. SCREW WITH A SURFACE
BEARING HEAD MAX SPACING AT 16" O.C. 6"
W X 16 GAUGE GALVANIZED STEEL PLATE
SECURED TO A MINIMUM OF 3 STUDS WITH 2
#10 SELF TAPPING SCREWS AT EACH STUD

PULL, AS SCHEDULED

UNLESS SHOWN AS GWB SOFFIT ON REFLECTED 

CEILING PLAN , REFER TO DETAIL A7 / AE510 FOR 

GWB SOFFIT CONDITION.

1/
4"

1'-0" TYP. W/ 3MM EDGE BANDING TO MATCH 
PLASTIC LAMINATE

CONTINUOUS WOOD BLOCKING

MULTIPLE HOLE WITH METAL PINS SHELF SUPPORT

FINISHED CEILING 

3MM EDGE BANDING TO MATCH PLASTIC LAMINATE

STUD WALL

CONSTRUCTION

U
.N

.O
. O

N
 E

LE
V

A
TI

O
N

 

S
E

E
 C

A
B

IN
E

T 
D

IM
E

N
S

IO
N

S
 L

E
G

E
N

D

U.N.O. ON PLAN 

SEE CABINET DIMENSIONS LEGEND

GENERAL NOTE:

RAKKS MODEL EH-1209FM FOR USE ON COUNTERS UP TO 13" D
RAKKS MODEL EH-1212FM FOR USE ON COUNTERS UP TO 18" D
RAKKS MODEL EH-1818FM FOR USE ON COUNTERS UP TO 25" D
RAKKS MODEL EH-1824FM FOR USE ON COUNTERS UP TO 30" D

1/2" SOLID SURFACE POLYMER COUNTERTOP 
ON 3/4" CORE W/ BACKSPLASH U.N.O.

3" GROMET (1) PER MONITOR
LOCATION TO BE LOCATED IN THE FIELD

2 X 2 CONTINUOUS PAINTED ANGLE

SCHEDULED BASE

CONTINUOUS J SHAPED WIRE HANGER,
AT COUNTERS WITH COMPUTERS

IN
 E

LE
V

A
T I

O
N

 

4"
 U

.N
.O

. 

2" X 1/4" PHILLIPS PAN HEAD SCREWS
FASTENED TO 6" 16 GA. STEEL TRACK
SECURED AT A MIN. OF 3 STUDS OR
ATTACHED TO DOUBLE BACK TO BACK 18
GA. STUDS

STUD WALL

CONSTRUCTION

*SEE SECTION C3  FOR TYPICAL KEYNOTES AND DIMENSIONS AT THIS SECTION

REFER TO PLAN

2'
-3

"

U
.N

.O
. O

N
 E

LE
V

A
TI

O
N

S

2'
-1

0"

1/
4"

1/2" SOLID SURFACE POLYMER 
COUNTERTOP AND APRON ON 3/4" 
CORE W/ EASED EDGE; 
BACKSPLASH U.N.O.

2X2 CONTINUOUS PAINTED ANGLE

BLOCKING AS NECESSARY

STUD WALL

CONSTRUCTION

SOLID SURFACE SINK, SEE CASEWORK 
SCHEDULE FOR SINK TYPE PER ROOM

2'
-3

" M
IN

.

SCHEDULED BASE 

METAL COUNTER SUPPORT BRACKET (SIZE 
AND INSTALL PER MANUFACTURER'S 
REQUIREMENTS) MAX. SPACING 32" O.C.

3" MIN. #10 DIA. SCREW WITH A SURFACE
BEARING HEAD MAX SPACING AT 16" O.C. 6"
W X 16 GAUGE GALVANIZED STEEL PLATE
SECURED TO A MINIMUM OF 3 STUDS WITH 2
#10 SELF TAPPING SCREWS AT EACH STUD

1/2" SOLID SURFACE POLYMER 
COUNTERTOP ON 3/4" CORE WITH APRON; 
EASED EDGES

CONTINUOUS WOOD BLOCKING

2'
-1

0"

U.N.O. ON ARCH PLANS

2'-1"

CONTINUOUS 1/2" SOLID SURFACE 
POLYMER WATERFALL EDGE, 
WHERE APPLICABLE 

PLASTIC LAMINATE DOOR 
WITH 1/4" TEMPERED 
GLASS PANEL

PLASTIC LAMINATE BACKER 
PANEL

*SEE SECTION E1 FOR TYPICAL KEYNOTES, DIMENSIONS & CALLOUTS AT THIS SECTION

AE510

A7

STUD WALL

CONSTRUCTION

U
.N

.O
. O

N
 E

LE
V

A
TI

O
N

 

S
E

E
 C

A
B

IN
E

T 
D

IM
E

N
S

IO
N

S
 L

E
G

E
N

D

U.N.O. ON PLAN 

SEE CABINET DIMENSIONS LEGEND

1/2" SOLID SURFACE POLYMER COUNTERTOP 
ON 3/4" CORE W/ BACKSPLASH U.N.O.

3" GROMET (1) PER MONITOR
LOCATION TO BE LOCATED IN THE FIELD

2 X 2 CONTINUOUS PAINTED ANGLE

SCHEDULED BASE

ELECTRICAL RECEPTACLE, REFER 
TO ELECTRICAL.

IN
 E

LE
V

A
T I

O
N

 

4"
 U

.N
.O

. 

2" X 1/4" PHILLIPS PAN HEAD SCREWS
FASTENED TO 6" 16 GA. STEEL TRACK
SECURED AT A MIN. OF 3 STUDS OR
ATTACHED TO DOUBLE BACK TO BACK 18
GA. STUDS

EQUIPMENT, CONTRACTOR TO 
VERIFY OPENING WITH EQUIPMENT

HIDDEN COUNTERTOP BRACKET; B.O.D.: 
FEDERAL BRACE FREEDOM BRACKET; 
WHITE. REFER TO MANUFACTURER'S SIZE 
REQUIREMENTS

STUD WALL

CONSTRUCTION

WOOD BLOCKING AS REQUIRED

RB-3 JOHNSONITE INFLECTION MILLWORK 
BASE

QUARTZ ON MR PLYWOOD SUBSTRATE QS-1

1" THICK SHAKER STYLE CABINET DRAWER. 
PAINTED TO MATCH P-6

MR MDF CABINET FRAME. PAINTED TO MATCH P-6

3" MIN. #10 DIA. SCREW WITH A SURFACE
BEARING HEAD MAX SPACING AT 16" O.C. 6"
W X 16 GAUGE GALVANIZED STEEL PLATE
SECURED TO A MINIMUM OF 3 STUDS WITH 2
#10 SELF TAPPING SCREWS AT EACH STUD

MELAMINE BACKER PANEL

MR MDF CABINET FRAME BEYOND

2'
 - 

6"

2"
5 

1/
4"

3"

CABINET PULL AS SCHEDULED

2"

METAL DRAWER GUIDE

7 
1/

2"
2 

5/
8"

7 
5/

8"

AE530

F3

STUD WALL

CONSTRUCTION

WOOD BLOCKING AS REQUIRED

WOOD BLOCKING AS REQUIRED

3" MIN. #10 DIA. SCREW WITH A SURFACE
BEARING HEAD MAX SPACING AT 16" O.C. 6"
W X 16 GAUGE GALVANIZED STEEL PLATE
SECURED TO A MINIMUM OF 3 STUDS WITH 2
#10 SELF TAPPING SCREWS AT EACH STUD

MULTUPLE HOLE WITH METAL PINS 
SHELF SUPPORT

PLASTIC LAMINATE SHELF WITH 3/4" CORE

MR MDF  BACKER PANEL, PAINTED 
TO MATCH P-6

RB-3 JOHNSONITE INFLECTION MILLWORK BASE

QUARTZ ON MR PLYWOOD SUBSTRATE, QS-1

2 " THICK MR MDF PANEL BEYOND PAINTED TO 
MATCH P-6

2" THICK MR MDF SHELF. PAINTED TO MATCH P-4

1" THICK SHAKER STYLE CABINET DOOR. PAINTED 
TO MATCH P-6

MOISTURE RESISTANT MDF CABINET FRAME. 
PAINTED TO MATCH P-6

3" MIN. #10 DIA. SCREW WITH A SURFACE
BEARING HEAD MAX SPACING AT 16" O.C. 6"
W X 16 GAUGE GALVANIZED STEEL PLATE
SECURED TO A MINIMUM OF 3 STUDS WITH 2
#10 SELF TAPPING SCREWS AT EACH STUD

BLOCKING AS REQUIRED TO PROVIDE 
CONCEALED SHELF SUPPORT.

MELAMINE BACKER PANEL

MOISTURE RESISTANT MDF CABINET FRAME 
BEYOND

DECORATIVE COVE MOULDING

1" THICK MR MDF PANEL  PAINTED TO MATCH P-6

1' - 6"

2' - 5"

2"

2 
1/

2"
4 

1/
8"

2 
1/

2"
2"

1'
 - 

6 
1/

4"
2"

1'
 - 

5 
1/

4"
2"

1'
 - 

6 
1/

4"
2"

2'
 - 

6"

2"
2 

1/
2"

5 
1/

4"
3"

1'
 - 

0 
3/

4"
2 

1/
2"

2"

6'
 - 

6"

1"

CABINET PULL AS SCHEDULED

METAL DRAWER GUIDE

1" THICK SHAKER STYLE CABINET DOOR. PAINTED 
TO MATCH P-6

20MM QUARTZ SURFACE ON 3/4" MDF

20MM QUARTZ SURFACE WITH 
MITER EDGE

ø 0' - 0 1/4"

1 
1/

2"

20MM QUARTZ 
SURFACE ON 3/4" MDF

1 
1/

2"

1/2
"

45°

S
E

E
 C

O
U

N
TE

R
 D

E
P

TH
 A

B
O

V
E

1/2" SOLID SURFACE POLYMER

1/2" CORE

SCRIBE TO WALL

S
TU

D
 W

A
LL

C
O

N
S

TR
U

C
TI

O
N

1 1/2"

1/4" EASED EDGE, TYP.

COUNTINOUS WOOD BLOCKING

Project Number

Building Number

Drawing Number

Project Title

Location

Issue Date Checked Drawn

Drawing Title

Approved:

VA  FORM   08 - 6231

A

3

Office of
Construction
and Facilities
Management

U.S. Department
of Veterans Affairs

B

C

D

E

F

21 4 5 6 7 8 9 10

Phase

ENGINEER OF RECORD MILLER-REMICK LLC
PROFESSIONAL ENGINEERCONSULTANT

321 4 5 6 7 8 9 10

PRINTS OF THIS DRAWING SHALL NOT BE USED FOR ANY PURPOSE 
WHATSOEVER WITHOUT THE SEAL AND SIGNATURE OF THE 

PROFESSIONAL ENGINEEER 

MR PROJECT NO:

o
n
e
 
e
ig
h
th
 
in
c
h
 
=
 
o
n
e
 
fo
o
t

0
4

8
1
6

o
n
e
 
q
u
a
rt
e
r 
in
c
h
 
=
 
o
n
e
 
fo
o
t

0
4

8

th
re
e
 
e
ig
th
s
 
in
c
h
 
=
 
o
n
e
 
fo
o
t

0
4

o
n
e
 
h
a
lf
 
in
c
h
 
=
 
o
n
e
 
fo
o
t

0
4

th
re
e
 
q
u
a
rt
e
r 
in
c
h
 
=
 
o
n
e
 
fo
o
t

6
"
 
 
 
0

 
 
 
 
2

o
n
e
 
in
c
h
 
=
 
o
n
e
 
fo
o
t

6
"
 
 
 
 
0

 
 
 
 
 
 
 
 
 
 
 
2

o
n
e
 
a
n
d
 
o
n
e
 
h
a
lf
 
in
c
h
 
=
 
o
n
e
 
fo
o
t

6
"
 
 
 
 
 
 
 
0

 
 
 
 
 
 
 
 
1

th
re
e
 
in
c
h
 
=
 
o
n
e
 
fo
o
t

6
"
 
 

2
/9

/2
0

2
3
 4

:5
4

:5
7

 P
M

AE530

ARCHITECTURAL MILLWORK DETAILS CONSTRUCT NEW COMMUNITY

LIVING CENTER (CLC)

LEBANON, PENNSYLVANIA

595-601

CLC-1

2023-02-09 JP,MPY LM0499-0124

BID DOCUMENTS

1 1/2" = 1'-0"
A3

SECTION @ TYPICAL BASE CABINET
1 1/2" = 1'-0"

A1
SECTION @ TYPICAL BASE CABINET

1 1/2" = 1'-0"
A5

SECTION @ TYPICAL BASE CABINET

6" = 1'-0"
F1

TYPICAL SOLID SURFACE COUNTER TOP EDGE
6" = 1'-0"

F6
SOLID SURFACE COUNTER TOP EDGE

6" = 1'-0"
F7

SOLID SURFACE COUNTER TOP EDGE

1 1/2" = 1'-0"
A7

TYPICAL BASE CABINET @ ICE MACHINE

1 1/2" = 1'-0"
C1

SECTION @ TYPICAL  SINK BASE CABINET - ADA ACCESSIBLE

1 1/2" = 1'-0"
E1

SECTION @ TYPICAL UPPER CABINET

1 1/2" = 1'-0"
C3

SECTION @ COUNTERTOP
1 1/2" = 1'-0"

C5
SECTION @ COUNTERTOP WITH APRON

1 1/2" = 1'-0"
C7

SECTION @ TOILET ROOM SINK

1 1/2" = 1'-0"
E3

SECTION @ TYPICAL UPPER CABINET WITH GLASS FRONT

1 1/2" = 1'-0"
A9

SECTION @ COUNTERTOP WITH EQUIPMENT

1 1/2" = 1'-0"
E7

SECTION @ CONCIERGE BASE CABINET

1 1/2" = 1'-0"
F9

SECTION @ CONCIERGE FULL HEIGHT CABINET

6" = 1'-0"
F3

TYPICAL QUARTZ COUNTERTOP EDGE
6" = 1'-0"

F4
TYPICAL QUARTZ BEVELED COUNTERTOP EDGE

Revisions: Date:

3" = 1'-0"
E4

PLAN SECTION @ SOLID SURFACE END PANEL



1" THICK MR MDF PANEL

SEE R.C.P

1" 1"

1" THICK MR MDF PANEL BEYOND, PAINTED TO 
MATCH P-6

SEE PLAN

5/8" TYPE X GYPSUM WALLBOARD

3-5/8" METAL STUD KICKER AT 4'-0" OC MAX

3 5/8" METAL STUDS @ 16" O.C. MAX.

SEE PLAN

FINISHED CEILING

3 5/8" METAL RUNNER

FASTEN TO STRUCTURAL SYSTEM 
ABOVE AS REQUIRED

4"
1'

-2
"

4"

1" THICK MR MDF PANEL, PAINTED TO MATCH P-6

6"

1" THICK MR MDF PANEL BEYOND

SEE PLAN

5/8" TYPE X GYPSUM WALLBOARD

3-5/8" METAL STUD KICKER AT 4'-0" OC MAX

3 5/8" METAL STUDS @ 16" O.C. MAX.

SEE PLAN

FINISHED CEILING

3 5/8" METAL RUNNER

FASTEN TO STRUCTURAL SYSTEM 
ABOVE AS REQUIRED

RANGE HOOD. SEE MEP DRAWINGS.

2"
2'

-0
"

1"

16 GAUGE BRUSHED STAINLESS STEEL 
TRIM 

PROVIDE FIRE RATED BLOCKING AS REQUIRED

3/4" THICK  FIRE RATED PLYWOOD WITH PLASTIC 
LAMINATE FINISH PL-1
NOTE: FIELD VERIFY HOOD COVER DIMENSIONS 
AND COORDINATED WITH SELECTED HOOD 
SYSTEM

1" THICK MR MDF PANEL BEYOND

1" THICK MR MDF PANEL PAINTED TO MATCH P-6

1"

4"

RB-3 JOHNSONITE INFLECTION 
MILLWORK BASE

9 
1/

8"
2'

-5
"

4"
1'

-2
"

4"
1'

-1
1"

1" THICK MR MDF PANEL, PAINTED TO MATCH P-6

5/8" SCHEDULED PARTITION

3 5/8" METAL RUNNER

3 5/8" METAL RUNNER

4'
-5

"

3" MIN. #10 DIA. SCREW WITH A SURFACE
BEARING HEAD MAX SPACING AT 16" O.C. 6"
W X 16 GAUGE GALVANIZED STEEL PLATE
SECURED TO A MINIMUM OF 3 STUDS WITH 2
#10 SELF TAPPING SCREWS AT EACH STUD

PLASTIC LAMINATE SHELF WITH 3/4"
PLYWOOD CORE

2 X 2 CONTINUOUS ANODIZED ALUMINUM
ANGLE

MELAMINE BACKER PANEL

3" MIN. #10 DIA. SCREW WITH A SURFACE
BEARING HEAD MAX SPACING AT 16" O.C. 6"
W X 16 GAUGE GALVANIZED STEEL PLATE
SECURED TO A MINIMUM OF 3 STUDS WITH 2
#10 SELF TAPPING SCREWS AT EACH STUD

PULL, AS SCHEDULED

UNLESS SHOWN AS GWB SOFFIT ON 

REFLECTED CEILING , REFER TO 

DETAIL  A8/A841 FOR GWB SOFFIT  

2'-3" TYP.

W/ 3MM EDGE BANDING TO MATCH 
PLASTIC LAMINATE

CONTINUOUS WOOD BLOCKING

MULTIPLE HOLE WITH METAL PINS SHELF SUPPORT

0' - 3"

RESILIENT BASE

STUD WALL

2X4 WOOD BLOCKING

COORDINATE MDF PANEL 
OPENING WITH DOUBLE OVEN 
DIMMENSIONS.

3" MIN. #10 DIA. SCREW WITH A SURFACE
BEARING HEAD MAX SPACING AT 16" O.C. 6"
W X 16 GAUGE GALVANIZED STEEL PLATE
SECURED TO A MINIMUM OF 3 STUDS WITH 2
#10 SELF TAPPING SCREWS AT EACH STUD

MR FIRE RESISTANT MDF PANEL, PAINTED TO 
MATCH P-6 

2'-3"

1" THICK MR MDF 
PANEL

1" 1"

1" THICK MR MDF PANEL BEYOND, PAINTED TO MATCH P-6

3-5/8" METAL STUD KICKER AT 4'-0" OC MAX

3 5/8" METAL STUDS @ 16" O.C. MAX.

3 5/8" METAL RUNNER

FASTEN TO STRUCTURAL SYSTEM 
ABOVE AS REQUIRED

7'
-2

"

1/
2"

2'
-2

"
4'

-3
 7

/8
"

1 
1/

2"

1 1/8"

MR MDF DOOR FACE, PAINTED TO MATCH P-6

COORDINATE 

1" THICK MR MDF PANEL BEYOND PAINTED TO 
MATCH P-6 2'

-7
"

RB-2 JOHNSONITE INFLECTION MILLWORK 
BASE

1" THICK MR MDF PANEL PAINTED TO MATCH P-4

QUARTZ ON MR PLYWOOD SUBSTRATE, QS-2

2X4 BLOCKING

3"

1'-8" 1'-8"

1" THICK MR MDF PANEL PAINTED TO MATCH P-4

IN
 E

LE
V

A
T I

O
N

0'
 - 

4"
 T

Y
P

. U
.N

.O
.

3" MIN. #10 DIA. SCREW WITH A SURFACE
BEARING HEAD MAX SPACING AT 16" O.C. 6"
W X 16 GAUGE GALVANIZED STEEL PLATE
SECURED TO A MINIMUM OF 3 STUDS WITH 2
#10 SELF TAPPING SCREWS AT EACH STUD

2X4 WOOD BLOCKING

CONTINUOUS WOOD BLOCKING

CONTINUOUS WOOD BLOCKING

MELAMINE BACKER PANEL

PLASTIC LAMINATE SHELF WITH 3/4" CORE 
WITH 3MM EDGE BANDING   

CABINET PULL AS SCHEDULED

BASE AS SCHEDULED

3" TYP.

AE530

F4

MULTIPLE HOLE WITH METAL PINS SHELF SUPPORT

TYP.

9" TYP.

1"

VERTICAL STEEL STUBE SPACE 16" O.C

CONTINUOS HORIZONTAL STEEL TUBE 

1/2" EXPANSION BOLT

3'-4"

1"

MR MDF DOOR FACE, PAINTED TO MATCH P-4

QUARTZ ON MR PLYWOOD SUBSTRATE, QS-1

2'
-7

"
3" 1"

1'-6" TYP.

1'-8" 2'-6 5/8"

4'-2 5/8"

*SEE SECTION A1/AE531 FOR TYPICAL KEYNOTES AND DIMENSIONS AT THIS SECTION

*SEE SECTION A3/AE530 FOR DRAWER AND DOOR CABINET DETAILS 

*SEE SECTION F8/AE531 FOR 4 DRAWER CABINET DETAILS

*SEE SECTION F6/AE531 FOR SINK CABINET DETAILS

AE530

F4

3/4"

1"

1" THICK MR MDF PANEL BEYOND PAINTED TO 
MATCH P-4

2'
-1

0"

JOHNSONITE INFLECTION MILLWORK BASE; 
RB-2 U.N.O. IN ELEVATION

1" THICK MR MDF PANEL PAINTED TO MATCH P-4 
U.N.O. IN ELEVATION

QUARTZ ON MR PLYWOOD SUBSTRATE, QS-1

1" 1" 1"

1 
1/

2"
4"

1'
-7

 1
/4

"
4"

5 
1/

4"

PLASTIC LAMINATE END PANEL.

2X4 BLOCKING

AE530

F4

1" THICK MR MDF PANEL PAINTED TO MATCH P-4 

2'
-1

0"

RB-2 JOHNSONITE INFLECTION MILLWORK 
BASE

1" THICK MR MDF PANEL PAINTED TO MATCH P-4

QUARTZ ON MR PLYWOOD SUBSTRATE, QS-1

1"

PLASTIC LAMINATE END PANEL.

2X4 BLOCKING

AE530

F4

STUD WALL

CONSTRUCTION

U
.N

.O
. O

N
 E

LE
V

A
TI

O
N

S

S
E

E
 C

A
B

IN
E

T 
D

IM
E

N
S

IO
N

 L
E

G
E

N
D

IN
 E

LE
V

A
T I

O
N

0'
 - 

4"
 T

Y
P

. U
.N

.O
.

3" MIN. #10 DIA. SCREW WITH A SURFACE
BEARING HEAD MAX SPACING AT 16" O.C. 6"
W X 16 GAUGE GALVANIZED STEEL PLATE
SECURED TO A MINIMUM OF 3 STUDS WITH 2
#10 SELF TAPPING SCREWS AT EACH STUD

2X4 WOOD BLOCKING2X4 WOOD BLOCKING

CONTINUOUS WOOD BLOCKING

CONTINUOUS WOOD BLOCKING

MELAMINE BACKER PANEL

PLASTIC LAMINATE SHELF WITH 3/4" CORE 
WITH 3MM EDGE BANDING   

U.N.O. ON ARCH PLANS

SEE CABINET DIMENSION LEGEND

CABINET PULL AS SCHEDULED

BASE AS SCHEDULED

3" TYP.

W/ 3MM EDGE BANDING TO MATCH 
MDF PANEL

AE530

F3

MULTIPLE HOLE WITH METAL PINS SHELF SUPPORT

TYP.

1'-6" TYP.

QUARTZ COUNTERTOP ON 3/4" CORE, QS-1

CONTINUOUS 1/2" QUARTZ WATERFALL EDGE

MR MDF DOOR FACE, PAINTED TO MATCH P-1

STUD WALL

CONSTRUCTION

U
.N

.O
. O

N
 E

LE
V

A
TI

O
N

S

S
E

E
 C

A
B

IN
E

T 
D

IM
E

N
S

IO
N

 L
E

G
E

N
D

IN
 E

LE
V

A
T I

O
N

0'
 - 

4"
 T

Y
P

. U
.N

.O
.

U.N.O. ON ARCH PLANS

SEE CABINET DIMENSION LEGEND

3" TYP.

AE530

F3

TYP.
QS-1 QUARTZ COUNTERTOP ON 3/4" CORE 
WITH CUTOUT TO RECEIVE COUNTER 
MOUNTED COOKTOP OR TRIBLE BASIN 
UNDERMOUNT SINK. GC TO COORDINATE.

COORDINATE CONNECTION OF COOKTOP 
TO GAS AND PLUMBING LINE THROUGH 
CABINET.

*SEE SECTION E1 FOR TYPICAL KEYNOTES AND DIMENSIONS AT THIS SECTION

AE530

F3

STUD WALL

CONSTRUCTION

0'
 - 

4"

METAL DRAWER GUIDE

E
Q

E
Q

E
Q

E
Q

*SEE SECTION A1 FOR TYPICAL KEYNOTES AND DIMENSIONS AT THIS SECTION

CABINET PULL AS SCHEDULED

W/ 3MM EDGE BANDING TO MATCH 
MDF

MR MDF DRAWER FACE, PAINTED TO MATCH P-1

MELAMINE BACKER PANEL

WASTE RECEPTACLE

2X4 WOOD BLOCKING2X4 WOOD BLOCKING

CONTINUOUS WOOD BLOCKING

SLIPING SHELF

METAL DRAWER GUIDE

2'
-1

0"

4'-1"

BASE AS SCHEDULED

1" THICK MR MDF PANEL BEYOND PAINTED TO 
MATCH P-1 

RB-4 JOHNSONITE INFLECTION MILLWORK 
BASE

1" THICK MR MDF PANEL PAINTED TO MATCH P-1

QUARTZ ON MR PLYWOOD 
SUBSTRATE, QS-1

3" MIN. #10 DIA. SCREW WITH A SURFACE
BEARING HEAD MAX SPACING AT 16" O.C. 6"
W X 16 GAUGE GALVANIZED STEEL PLATE
SECURED TO A MINIMUM OF 3 STUDS WITH 2
#10 SELF TAPPING SCREWS AT EACH STUD

CABINET PULL AS SCHEDULED

VERTICAL STEEL STUBE SPACE 16" O.C
CONTINUOS HORIZONTAL STEEL TUBE 

VERTICAL WOOD FRAMING, SPACED 16" O.C

HORIZONTAL WOOD FRAMING, SPACED 16" O.C

AE530

F4

4"

*SEE SECTION F1/AE531 FOR ONE DOOR WITH SHELVES CABINET DETAILS 

*SEE SECTION C1/AE530 FOR SINK CABINET DETAILS

1/2" EXPANSION BOLT

MR MDF DOOR FACE, 
PAINTED TO MATCH P-1

S
E

E
 C

O
U

N
TE

R
 D

E
P

TH
 A

B
O

V
E

PLASTIC LAMINATE END PANEL

SCRIBE TO WALL

S
TU

D
 W

A
LL

C
O

N
S

TR
U

C
TI

O
N

1/4" EASED EDGE, TYP.

COUNTINOUS WOOD BLOCKING

QUARTZ ON MR SUBSTRATE, QS-1.

1"

CABINET DOOR 

UNDER COUNTER SINK

WOOD CANT STRIP

0' - 8" 0' - 10"

1'
 - 

6"
0'

 - 
9"

2'
 - 

3"

RESILIENT BASE

CONTINUOUS WOOD BLOCKING

CONTINUOUS WOOD BLOCKING

2'
-1

0"

6"

*SEE SECTION A6/AE531 FOR TYPICAL KEYNOTES AND DIMENSIONS AT THIS SECTION

MR MDF REMOVABLE PANEL, PAINTED TO MATCH P-1

Project Number

Building Number

Drawing Number

Project Title

Location

Issue Date Checked Drawn

Drawing Title

Approved:

VA  FORM   08 - 6231

A

3

Office of
Construction
and Facilities
Management

U.S. Department
of Veterans Affairs

B

C

D

E

F

21 4 5 6 7 8 9 10

Phase

ENGINEER OF RECORD MILLER-REMICK LLC
PROFESSIONAL ENGINEERCONSULTANT

321 4 5 6 7 8 9 10

PRINTS OF THIS DRAWING SHALL NOT BE USED FOR ANY PURPOSE 
WHATSOEVER WITHOUT THE SEAL AND SIGNATURE OF THE 

PROFESSIONAL ENGINEEER 

MR PROJECT NO:

o
n
e
 
e
ig
h
th
 
in
c
h
 
=
 
o
n
e
 
fo
o
t

0
4

8
1
6

o
n
e
 
q
u
a
rt
e
r 
in
c
h
 
=
 
o
n
e
 
fo
o
t

0
4

8

th
re
e
 
e
ig
th
s
 
in
c
h
 
=
 
o
n
e
 
fo
o
t

0
4

o
n
e
 
h
a
lf
 
in
c
h
 
=
 
o
n
e
 
fo
o
t

0
4

th
re
e
 
q
u
a
rt
e
r 
in
c
h
 
=
 
o
n
e
 
fo
o
t

6
"
 
 
 
0

 
 
 
 
2

o
n
e
 
in
c
h
 
=
 
o
n
e
 
fo
o
t

6
"
 
 
 
 
0

 
 
 
 
 
 
 
 
 
 
 
2

o
n
e
 
a
n
d
 
o
n
e
 
h
a
lf
 
in
c
h
 
=
 
o
n
e
 
fo
o
t

6
"
 
 
 
 
 
 
 
0

 
 
 
 
 
 
 
 
1

th
re
e
 
in
c
h
 
=
 
o
n
e
 
fo
o
t

6
"
 
 

2
/9

/2
0

2
3
 4

:5
5

:0
5

 P
M

AE531

ARCHITECTURAL MILLWORK DETAILS -

KITCHEN
CONSTRUCT NEW COMMUNITY

LIVING CENTER (CLC)

LEBANON, PENNSYLVANIA

595-601

CLC-1

2023-02-09 JP,MPY LM0499-0124

BID DOCUMENTS

1 1/2" = 1'-0"
C4

SECTION @ WALL DECORATIVE PANEL

1 1/2" = 1'-0"
D6

SECTION @ HOOD COVER

1 1/2" = 1'-0"
F1

SECTION @ FULL HEIGHT DECORATIVE PANEL

1 1/2" = 1'-0"
D9

SECTION @ FULL HEIGHT DOUBLE OVEN CABINET

1 1/2" = 1'-0"
A1

SECTION @ ISLAND ADA SEATING COUNTER
1 1/2" = 1'-0"

A4
SECTION @ ISLAND ADA SEATING COUNTER Copy 1

1 1/2" = 1'-0"
F2

SECTION @ BASE CABINET DECORATIVE END PANEL

1 1/2" = 1'-0"
E2

SECTION @ BASE DECORATIVE END PANEL - FLUSHED

1 1/2" = 1'-0"
F4

SECTION @ BASE CABINET 2
1 1/2" = 1'-0"

F6
SECTION @ BASE CABINET - COOKTOP CUTOUT

1 1/2" = 1'-0"
F8

SECTION @ 4 DRAWER BASE CABINET

1 1/2" = 1'-0"
A6

SECTION @ BASE TRASH CABINET - ISLAND

3" = 1'-0"
E10

PLAN SECTION @ QUARTZ END PANEL

1 1/2" = 1'-0"
C1

SECTION @ ISLAND SINK CABINET

Revisions: Date:



SCHEDULED PARTITION

1/2" X 1/2" ALUMINUM ANGLE; 
MITERED CORNERS

1/2" PLASTIC LAMINATE PANEL PL-2 ON 
MDF CORE ADHERED TO PARTITION  

FINSHED CEILING

1/
2"

PAINT EXPOSED GWB P-5

SCHEDULED PARTITION

1/2" X 1/2" ALUMINUM ANGLE; MITERED 
CORNERS

1/2" PLASTIC LAMINATE PANEL PL-2 ON 
MDF CORE ADHERED TO PARTITION  

MARINE GRADE PLYWOOD

CLEAR SEALANT

QUARTZ SURFACE QS-3  WITH 
MITERED EDGE; SCRIBED TO FLOOR

R 0' - 0 1/4"

R
E

FE
R

 T
O

 E
LE

V
A

TI
O

N
S

1/
2"

1/2" X 1/2" FRY REGLET LED MILLWORK 
U-CHANNEL AS NOTED ON ELECTRICAL 
DRAWINGS AND LIGHTING SCHEDULE. 
INSTALL FLUSH WITH PLASTIC LAMINATE 
PANEL ABOVE.

SCHEDULED PARTITION

1/2" X 1/2" ALUMINUM ANGLE; 
MITERED CORNERS

1/2" PLASTIC LAMINATE PANEL PL-2 ON 
MDF CORE ADHERED TO PARTITION  

SCHEDULED PARTITION

1/2" PLASTIC LAMINATE PANEL PL-2 ON 
MDF CORE ADHERED TO PARTITION  

DOOR FRAME

PROVIDE BEAD OF CLEAR SILICONE CAULK 
AGAINST DOOR FRAME BEFORE INSTALLATION 

OF THE WALL PANEL/ TRIM.  

1/2" X 1/2" ALUMINUM ANGLE; 
MITERED CORNERS

1/2" PLASTIC LAMINATE PANEL PL-2 ON 
MDF CORE ADHERED TO PARTITION, 
FACTORY CUT-OUT FOR RECESSED 
MEMORY BOX

FRAMED 1/4" TEMPERED GLASS HINGED 
DOOR

3 1/2"

SCHEDULED PARTITION

OUTER FRAME

1/8" THK BRUSHED 
ALUMINUM DIMENSIONAL 

ROOM NUMBER

DISPLAY BOX, RECESSED IN WALL WITH 
ADJUSTABLE SHELF

OUTER FRAME

METAL STUD SUPPORT

2"
E

Q
E

Q

FRAMED 1/4" TEMPERED 
GLASS CONCEALED 
HINGED DOOR

OUTER FRAME

DISPLAY BOX, RECESSED IN 
WALL 

4"

TY
P

.

1"
1'

-4
"

ROOM NUMBER XXXXX

ADJUSTABLE SHELF 

DOOR PULL & OPTIONAL LOCK

1'-0"

F8
AE532

TYP.

1'
-1

0"

3"

SEE PLANS

U
.N

.O
. O

N
 E

LE
V

A
TI

O
N

S

S
E

E
 C

A
S

E
W

O
R

K
 D

IM
E

N
S

IO
N

S
 L

E
G

E
N

D

C
E

N
TE

R
L I

N
E

 O
F 

D
O

O
R

 P
U

LL

3'
-0

"

STUD WALL

CONSTRUCTION

CABINET PULL, AS SCHEDULED

4"
  O

R
 6

"

WOOD BLOCKING AS 
REQUIRED

1/
8"

PLASTIC LAMINATE PANEL

PLASTIC LAMINATE DOOR 
FACE; 3MM EDGE BANDING

WOOD BLOCKING AS REQUIRED

3" MIN. #10 DIA. SCREW WITH A SURFACE
BEARING HEAD MAX SPACING AT 16" O.C. 6"
W X 16 GAUGE GALVANIZED STEEL PLATE
SECURED TO A MINIMUM OF 3 STUDS WITH 2
#10 SELF TAPPING SCREWS AT EACH STUD

E
Q

E
Q

BASE AS SCHEDULED

MULTUPLE HOLE WITH METAL PINS 
SHELF SUPPORT

PLASTIC LAMINATE SHELF WITH 
3/4" CORE

WHITE MELAMINE BACKER PANEL

AE510

A7

PLASTIC LAMINATE ON 3/4"  
PLYWOOD CORE

2"

REFER TO BASE TYPE IN ROOM FOR HEIGHT

1 3/4" THICK MR MDF PANEL BEYOND

3/4" THICK MR MDF PANEL PAINTED TO MATCH P-4

1" THICK MR MDF PANEL PAINTED TO MATCH P-4

2" GROMMET - (1) PER MONITOR
LOCATION; HAFELE ITEM #631.46.603, ZINC, 
NICKEL MATTE

METAL COUNTER SUPPORT BRACKET
HAFELE SPEED BRACE ITEM #287.77.002
STAINLESS STEEL (SIZE ACCORDING TO
MANUFACTURER'S SIZING REQUIREMENTS)

2 X 2 CONTINUOUS ANODIZED 
ALUMINUM ANGLE

POWER/DATA

RACEWAY

WHITE THERMOFOIL FLUSH ACCESS PANEL

WHITE THERMOFOIL PANEL (BELOW WORKSURFACE)

1/2" SOLID SURFACE POLYMER 
COUNTERTOP WITH EASED EDGE

5/8" MARINE GRADE PLYWOOD

PROVIDE FRT BLOCKING, TYP

3'
-6

"

CORD MANAGEMENT GUIDES CENTERED
BETWEEN BRACKETS -
DOUG MOCKETT WM7-90NL

4"

RUBBER BASE

RB-2 JOHNSONITE INFLECTION 
MILLWORK BASE

1" THICK MR MDF PANEL PAINTED TO MATCH P-4

1" 4"
1 1/2"

5 
1/

4"
4"

2'
-3

 1
/4

"

2'
-6

"

6 1/2"

TACKBOARD TB-1

2'-0"

QUARTZ ON MR SUBSTRATE, QS-1

1 
1/

2"
AE530

F3

AE530

F1

BOXED W/ WATERFALL EDGE CUSHION 
CONSTRUCTION: 2" THICK CLASS "A" HIGH 
DENSITY FOAM CLAD WITH MUSLIN LINER AND 
UPHOLSTERY FABRIC. PROVIDE CONCEALED 
ZIPPERS FOR CLEANING; FEMALE VELCRO 
HOOK AND LOOP FASTENERS TO SEAT BACK 
AND BOTTOM; VELCRO MALE MECHANICALLY 
FASTENED TO WOOD FOR ENTIRE LENGTH OF 
BENCH; CUSHION FABRIC TO BE UPH-1

PLASTIC LAMINATE PL-1 ON 3/4" CORE

BLOCKING AS REQUIRED

1" THICK X 4"W MAPLE HARDWOOD IN 45 
DEGREE CHEVRON PATTERN; STAINED 
TO MATCH PLASTIC LAMINATE PL-1, SEE 
ELEVATION FOR PATTERNING. 

R 0'
 - 

0 1
/2"

1'
-5

"
2'

-5
"

4"

BLOCKING AS REQUIRED FOR ANGLED BACK 
SURFACE

1/2" PLYWOOD AS REQUIRED

1'-4"

WALLCOVERING AS SCHEDULED 

3"

SCRIBE TO FLOOR; 
CLEAR SEALANT

SCHEDULED PARTITION

100°

3"

2"

2'-2 1/4"

SEE SECTION C9 FOR TYPICAL KEYNOTES AT THIS SECTION

SEE PLANS

C
E

N
TE

R
L I

N
E

 O
F 

D
O

O
R

 P
U

LL

2'
-7

"

STUD WALL

CONSTRUCTION

1/
8"

WOOD BLOCKING AS REQUIRED

3" MIN. #10 DIA. SCREW WITH A SURFACE
BEARING HEAD MAX SPACING AT 16" O.C. 6"
W X 16 GAUGE GALVANIZED STEEL PLATE
SECURED TO A MINIMUM OF 3 STUDS WITH 2
#10 SELF TAPPING SCREWS AT EACH STUD

PLASTIC LAMINATE BACKER PANEL

PLASTIC LAMINATE ON 3/4"  
PLYWOOD CORE

6"

STABILIZER BRACKET . MIN. TWO 
DIRECTIONS PER MANUFACTURERS 
REQUIREMENTS.

THREADED RODS

1"

PLASTIC LAMINATE PANEL

2" CLEAR

LIFT RAIL

4'
-0

" A
.F

.F
. M

A
X

. T
O

 T
O

P
 O

F 
D

E
V

IC
E

3'
-2

"

WALL MOUNTED CHARGER FOR 
HAND CONTROL REMOTE; 
COORDINATE WITH LIFT SYSTEM 
MANUFACTURER INSTALLATION 
REQUIREMENTS AND SPECS

PLASTIC LAMINATE DOOR FACE; CUT OUT IN 
TOP OF DOOR FOR LIFT MOTOR & TRACK; 
REFER TO MANUFACTURER'S DETAILS TO 
CONFIRM CUT OUT DIMENSIONS

CABINET PULL AS SCHEDULED

DUPLEX OUTLET; COORDINATE IN 
FIELD

R
E

FE
R

 T
O

 R
C

P
 F

O
R

 C
E

IL
IN

G
 H

E
IG

H
T

NOTE: SEE LIFT MANUFACTURER'S 
DESIGN DRAWINGS FOR ADDITIONAL 
INFORMATION.

FINISHED CEILING

5"

3'
-6

"

2'
-6

"

6"

1" THICK X 4"W MAPLE HARDWOOD IN 45 
DEGREE CHEVRON PATTERN; STAINED TO 
MATCH PLASTIC LAMINATE PL-1, SEE 
ELEVATION FOR PATTERNING. 

SCRIBE TO FLOOR; CLEAR SEALANT

1/2"

STAINLESS STEEL BASE

*SEE SECTION A1 FOR TYPICAL KEYNOTES, DIMENSIONS & CALLOUTS AT THIS SECTION U.N.O

MR MDF PANEL BEYOND PAINTED TO 
MATCH P-4

1" THICK MR MDF COUNTER  PAINTED TO 
MATCH P-4

QS-1 QUARTZ  COUNTERTOP ON 
PLYWOOD SUBSTRATE

PLASTIC LAMINATE PANEL 
BEYOND. 

2'-0"

TACKBOARD TB-1

6"

2"

2'
-0

"

QS-1 ON PLYWOOD SUBSTRATE.

PLASTIC LAMINATE ON 3/4" SUBSTRATE

1" MR MDF PANEL PAINTED TO MATCH P-4

BLOCKING AS REQUIRED

MITER CORNER

SAND SMOOTH FINISHED EDGE

2 5/8"

2"

1" THICK X 4"W MAPLE HARDWOOD IN 45 
DEGREE CHEVRON PATTERN; STAINED TO 
MATCH PLASTIC LAMINATE PL-1, SEE 
ELEVATION FOR PATTERNING. 

1/
2"

FASTEN TO STRUCTURAL SYSTEM 
ABOVE AS REQUIRED

3" X 3" 18 GA CONTINUOUS METAL ANGLE

M
IN

.

0'
 - 

2"

SEE PLAN

3 5/8" METAL RUNNER

5/8" TYPE X GYPSUM WALLBOARD

3/4"

PERIMETER LIGHT FIXTURE

3-5/8" METAL STUD KICKER AT 4'-0" OC MAX

3/4" FR MDF PANEL PAINTED TO MATCH P-4

STUD WALL

CONSTRUCTION

3'-0"

2"

MITRE JOINT

3/
4"

HARDWOOD PANEL 
BEYOND

5"

2"

PLASTIC LAMINATE BEYOND

3/4" THICK MR MDF PANEL 
DIRECTLY ADHERED TO 
DRYWALL. PAINTED TO 
MATCH P-4

SEATING BENCH BEYOND

2"

FASTEN TO STRUCTURAL SYSTEM 
ABOVE AS REQUIRED

3 5/8" METAL RUNNER

3 5/8" METAL STUDS @ 16" O.C. MAX.3 5/8" METAL STUDS @ 16" O.C. MAX.

3-5/8" METAL STUD KICKER AT 4'-0" OC MAX

5/8" TYPE X GYPSUM WALLBOARD

SEE PLAN

SEE PLAN

FINISHED CEILING

2"

2"

3" X 3" 18 GA CONTINUOUS METAL ANGLE3" X 3" 18 GA CONTINUOUS METAL ANGLE

1' - 8 3/4"

SEE PLAN

FOR SPANS GREATER THAN 1'-0"

3/4" FR MDF PANEL PAINTED TO MATCH P-4, 
DIRECTLY ADHERED TO DRYWALL

2"

2"

BLOCKING AS NEEDED

MITRE JOINT

2"

3/4" THICK MR MDF PANEL PAINTED TO 
MATCH P-4.

2"

1'
-8

 3
/4

"

BLOCKING AS REQUIRED

CONTINUOS SUBSTRATE

STUD WALL

CONSTRUCTION

SLIPING SHELF

METAL DRAWER GUIDE

KARRAN 9" DIA STAINLESS STEEL 
UNDERMOUNT WASTE CHUTE; 
CHEMICALLY WELD SEAMS; 
CENTERED IN COUNTER DEPTH AND 
WIDTH. REFER TO MANUFACTURER'S 
INSTALLATION DETAILS FOR 
COUNTERTOP EDGE DETAIL @ CHUTE

SEE SECTION A1/AE530 FOR TYPICAL KEYNOTES, DIMENSIONS & 

CALLOUTS AT THIS SECTION

EQ EQ

10°

WASTE RECEPTACLE, BY OTHER

U
.N

.O
. O

N
 E

LE
V

A
TI

O
N

S

4"

Project Number

Building Number

Drawing Number

Project Title

Location

Issue Date Checked Drawn

Drawing Title

Approved:

VA  FORM   08 - 6231

A

3

Office of
Construction
and Facilities
Management

U.S. Department
of Veterans Affairs

B

C

D

E

F

21 4 5 6 7 8 9 10

Phase

ENGINEER OF RECORD MILLER-REMICK LLC
PROFESSIONAL ENGINEERCONSULTANT

321 4 5 6 7 8 9 10

PRINTS OF THIS DRAWING SHALL NOT BE USED FOR ANY PURPOSE 
WHATSOEVER WITHOUT THE SEAL AND SIGNATURE OF THE 

PROFESSIONAL ENGINEEER 

MR PROJECT NO:

o
n
e
 
e
ig
h
th
 
in
c
h
 
=
 
o
n
e
 
fo
o
t

0
4

8
1
6

o
n
e
 
q
u
a
rt
e
r 
in
c
h
 
=
 
o
n
e
 
fo
o
t

0
4

8

th
re
e
 
e
ig
th
s
 
in
c
h
 
=
 
o
n
e
 
fo
o
t

0
4

o
n
e
 
h
a
lf
 
in
c
h
 
=
 
o
n
e
 
fo
o
t

0
4

th
re
e
 
q
u
a
rt
e
r 
in
c
h
 
=
 
o
n
e
 
fo
o
t

6
"
 
 
 
0

 
 
 
 
2

o
n
e
 
in
c
h
 
=
 
o
n
e
 
fo
o
t

6
"
 
 
 
 
0

 
 
 
 
 
 
 
 
 
 
 
2

o
n
e
 
a
n
d
 
o
n
e
 
h
a
lf
 
in
c
h
 
=
 
o
n
e
 
fo
o
t

6
"
 
 
 
 
 
 
 
0

 
 
 
 
 
 
 
 
1

th
re
e
 
in
c
h
 
=
 
o
n
e
 
fo
o
t

6
"
 
 

2
/9

/2
0

2
3
 4

:5
5

:1
2

 P
M

AE532

ARCHITECTURAL MILLWORK DETAILS CONSTRUCT NEW COMMUNITY

LIVING CENTER (CLC)

LEBANON, PENNSYLVANIA

595-601

CLC-1

2023-02-09 JP,MPY LM0499-0124

BID DOCUMENTS

6" = 1'-0"
E6

SECTION @ TOP OF P-LAM PANEL

6" = 1'-0"
F7

SECTION @ BASE OF P-LAM PANEL

6" = 1'-0"
E5

PLAN SECTION @ END EDGE OF P-LAM PANEL

6" = 1'-0"
F5

PLAN SECTION @ DOOR FRAME & P-LAM PANEL
3" = 1'-0"

F8
SECTION @ MEMORY BOX IN P-LAM PANEL

3" = 1'-0"
F9

ENLARGED ELEVATION OF MEMORY BOX

1 1/2" = 1'-0"
C9

SECTION @ FULL HEIGHT CABINET

1 1/2" = 1'-0"
A1

SECTION @ TEAM STATION DESK

1 1/2" = 1'-0"
F1

SECTION @ BUILT-IN BENCH

1 1/2" = 1'-0"
C8

SECTION @ FULL HEIGHT CABINET - FOR LIFT IN SPA

1 1/2" = 1'-0"
A3

SECTION @ CONCIERGE DESK
1 1/2" = 1'-0"

A5
PLAN SECTION @ CONCIERGE DESK

1 1/2" = 1'-0"
C1

SECTION @ BENCH PORTAL - CEILING

1 1/2" = 1'-0"
F4

SECTION @ BENCH PORTAL SIDE

1 1/2" = 1'-0"
C4

SECTION @ CONCIERGE PORTAL - CEILING

1 1/2" = 1'-0"
A6

SECTION @ CONCIERGE PORTAL

Revisions: Date:

1 1/2" = 1'-0"
C5

SECTION @ CORRIDOR WASTE CABINET



STUD WALL

CONSTRUCTION

MELAMINE BACKER PANEL

1" THICK SHAKER STYLE CABINET DOOR. PAINTED 
TO MATCH P-4

MR MDF CABINET FRAME BEYOND

CABINET PULL AS SCHEDULED

2"
2 

1/
2"

2 
1/

2"

PLASTIC LAMINATE SHELF WITH 3/4" CORE

1" THICK SHAKER STYLE CABINET DOOR. PAINTED 
TO MATCH P-4

MOISTURE RESISTANT MDF CABINET FRAME. 
PAINTED TO MATCH P-4

CABINET PULL AS SCHEDULED

2"
2 

1/
2"

1'
-0

 3
/4

"
2 

1/
2"

2" 1"

PLASTIC LAMINATE SHELF WITH 3/4" CORE

MULTUPLE HOLE WITH METAL PINS 
SHELF SUPPORT

2"

5'
-8

"

RETRACTABLE WARDROBE RAIL

*SEE SECTION F1 FOR TYPICAL KEYNOTES & DIMENSIONS AT THIS SECTION

STUD WALL

CONSTRUCTION

WOOD BLOCKING AS REQUIRED

WOOD BLOCKING AS REQUIRED

3" MIN. #10 DIA. SCREW WITH A SURFACE
BEARING HEAD MAX SPACING AT 16" O.C. 6"
W X 16 GAUGE GALVANIZED STEEL PLATE
SECURED TO A MINIMUM OF 3 STUDS WITH 2
#10 SELF TAPPING SCREWS AT EACH STUD

JOHNSONITE INFLECTION MILLWORK BASE; RB-3

SOLID SURFACE ON MR PLYWOOD SUBSTRATE, SSP-1

2 " THICK MR MDF PAINTED TO MATCH P-4

MOISTURE RESISTANT MDF CABINET FRAME. 
PAINTED TO MATCH P-4

3" MIN. #10 DIA. SCREW WITH A SURFACE
BEARING HEAD MAX SPACING AT 16" O.C. 6"
W X 16 GAUGE GALVANIZED STEEL PLATE
SECURED TO A MINIMUM OF 3 STUDS WITH 2
#10 SELF TAPPING SCREWS AT EACH STUD

MELAMINE BACKER PANEL

DECORATIVE COVE MOULDING, PAINTED P-4

1" THICK MR MDF PANEL PAINTED TO MATCH P-4

2"
2 

1/
2"

4 
1/

8"
2 

1/
2"

2"

2'
-6

"

5 
1/

4"
3"

6'
-6

"

CABINET PULL AS SCHEDULED

1" THICK SHAKER STYLE CABINET DRAWER. 
PAINTED TO MATCH P-4

7 
1/

2"
2 

5/
8"

7 
5/

8"
2"

2"

1" THICK SHAKER STYLE CABINET DRAWER. 
PAINTED TO MATCH P-4

MR MDF CABINET FRAME BEYOND

CABINET PULL AS SCHEDULED

METAL DRAWER GUIDE

1'
-1

"

2"
2 

1/
2"

2 
1/

2"

MULTUPLE HOLE WITH METAL PINS 
SHELF SUPPORT

PLASTIC LAMINATE SHELF WITH 3/4" CORE

1" THICK SHAKER STYLE CABINET DOOR. PAINTED 
TO MATCH P-4

MOISTURE RESISTANT MDF CABINET FRAME. 
PAINTED TO MATCH P-4

MELAMINE BACKER PANEL

CABINET PULL AS SCHEDULED

WOOD BLOCKING AS REQUIRED

1"

2 " THICK MR MDF PAINTED TO MATCH P-4

METAL DRAWER GUIDE

3'
-1

1"

PLASTIC LAMINATE PANEL

1/4" EASED 
EDGE

2'
-6

"

STUD WALL

CONSTRUCTION

SCHEDULED BASE

3" MIN. #10 DIA. SCREW WITH A
SURFACE BEARING HEAD MAX
SPACING AT 16" O.C. 6" W X 16 GAUGE
GALVANIZED STEEL PLATE SECURED
TO A MINIMUM OF 3 STUDS WITH 2 #10
SELF TAPPING SCREWS AT EACH
STUD

SOLID SURFACE ON MR PLYWOOD SUBSTRATE; SSP-1

2 X 2 CONTINUOUS ANODIZED
ALUMINUM ANGLE

2'-6"

BLOCKING AS REQUIRED, PAINTED WHITE

METAL COUNTER RECESSED SUPPORT 
BRACKET; B.O.D: A&M HARDWARE 
CONCEALED WORKSTATION BRACKET; 
WHITE. SIZE AND INSTALL PER 
MANUFACTURER'S REQUIREMENTS MAX. 
SPACING 32" O.C.

3"

1/4" EASED EDGES

FINISHED END

WALLCOVERING AS SCHEDULED

2"

CLEAR SEALANT

1" THICK MR MDF PANEL, 
PAINTED TO MATCH P-4

4"
4"

 U
.N

.O
. O

N
 E

LE
V

A
TI

O
N

S 1/2" THICK MR MDF PANEL, 
PAINTED TO MATCH P-4

SCHEDULED PARTITION

SOLID WOOD MAPLE SLAB MILLED TO 
2" THICK. STAINED TO MATCH PLASTIC 
LAMINATE PL-1 AND FINISHED WITH 
MARINE GRADE CLEAR VARNISH2"

2"

1" THICK MR MDF PANEL, 
PAINTED TO MATCH P-4

1" THICK MR MDF PANEL BEYOND

5'
-2

"

1" 1/2"

PORCELAIN TILE 

SCHEDULED PARTITION

SOLID WOOD MAPLE SLAB MILLED TO 2" 
THICK. STAINED TO MATCH PLASTIC 
LAMINATE PL-1 AND FINISHED WITH 
MARINE GRADE CLEAR VARNISH

2"

2"

5'
-2

"

1'
-0

"

6"

S
E

E
 E

LE
V

A
TI

O
N

S
1'

-0
"

S
E

E
 E

LE
V

A
TI

O
N

S

CUT TILE; PT-2. CUT END 
OF TILE AT FLOOR

WALL TILE; PT-2

THIN SET MORTAR

TILE BACKER BOARD

5 7/8" V.I.F. 1/2"

SOLID SURFACE END BEYOND; SSP-2

WALL TILE; PT-2

FINISHED FLOOR

CLEAR SEALANT AS NECESSARY

BLOCKING AS REQUIRED TO SUPPORT 
FLOATING SHELVES. MECHANICALLY 
FASTENED TO DRYWALL & PLYWOOD 
BACKER AS NECESSARY

SOLID WOOD MAPLE SLAB MILLED TO 2" THICK 
FLOATING SHELF. STAINED TO MATCH PLASTIC 
LAMINATE PL-1 AND FINISHED WITH MARINE 
GRADE CLEAR VARNISH. ROUTED OUT BACK 
TO FIT OVER BLOCKING. MECHANICALLY 
FASTEN TO BLOCKING AS REQUIRED.

THIN SET MORTAR

TILE BACKER BOARD

SOLID SURFACE OVERHANG BEYOND; SSP-2

1/2" SOLID SURFACE TOP ON MR 
MDF; SSP-2, 1/4" EASED EDGES

CLEAR SEALANT

CLEAR SEALANT AS NECESSARY

WALL TILE; PT-2

THIN SET MORTAR

TILE BACKER BOARD

SOLID SURFACE END BEYOND; SSP-2

NOTE: ALIGN HORIZONTAL GROUT 
LINES OF WALL TILE WITHIN NICHE 
WITH ADJACENT TILE.

2"
 T

Y
P

.

B6

AE533

GLUE ADHERE SCHEDULED GYPSUM 
WALL BOARD

FRT 3/4" PLYWOOD

FINISHED CEILING

1"

6" STUD

3 5/8" STUD

WALL TILE AS SCHEDULED

GLUE ADHERE SCHEDULED 
GYPSUM WALL BOARD

FRT 3/4" PLYWOOD

5/8" TYPE X GYPSUM WALLBOARD

1 5/8" STUD

SOLID WOOD MAPLE SLAB MILLED TO 2' THICK 
FLOATING SHELF. STAINED TO MATCH 
PLASTIC LAMINATE PL-1 AND FINISHED WITH 
MARINE GRADE CLEAR VARNISH. ROUTED 
OUT BACK TO CONCEAL BLOCKING SUPPORT. 
MECHANICALLY FASTEN AS REQUIRED.

1/2" SOLID SURFACE POLYMER 
END; SSP-2

1" 1/4" EASED 
EDGES, TYPPARTITION AS SCHEDULED

PARTITION AS SCHEDULED

1"

1 1/8"

5 7/8" V
.I.F.

1/2"

1'-6"

CLEAR SEALANT

CLEAR SEALANT

BLOCKING AS REQUIRED TO SUPPORT SHELVING

Project Number

Building Number

Drawing Number

Project Title

Location

Issue Date Checked Drawn

Drawing Title

Approved:

VA  FORM   08 - 6231

A

3

Office of
Construction
and Facilities
Management

U.S. Department
of Veterans Affairs

B

C

D

E

F

21 4 5 6 7 8 9 10

Phase

ENGINEER OF RECORD MILLER-REMICK LLC
PROFESSIONAL ENGINEERCONSULTANT

321 4 5 6 7 8 9 10

PRINTS OF THIS DRAWING SHALL NOT BE USED FOR ANY PURPOSE 
WHATSOEVER WITHOUT THE SEAL AND SIGNATURE OF THE 

PROFESSIONAL ENGINEEER 

MR PROJECT NO:

o
n
e
 
e
ig
h
th
 
in
c
h
 
=
 
o
n
e
 
fo
o
t

0
4

8
1
6

o
n
e
 
q
u
a
rt
e
r 
in
c
h
 
=
 
o
n
e
 
fo
o
t

0
4

8

th
re
e
 
e
ig
th
s
 
in
c
h
 
=
 
o
n
e
 
fo
o
t

0
4

o
n
e
 
h
a
lf
 
in
c
h
 
=
 
o
n
e
 
fo
o
t

0
4

th
re
e
 
q
u
a
rt
e
r 
in
c
h
 
=
 
o
n
e
 
fo
o
t

6
"
 
 
 
0

 
 
 
 
2

o
n
e
 
in
c
h
 
=
 
o
n
e
 
fo
o
t

6
"
 
 
 
 
0

 
 
 
 
 
 
 
 
 
 
 
2

o
n
e
 
a
n
d
 
o
n
e
 
h
a
lf
 
in
c
h
 
=
 
o
n
e
 
fo
o
t

6
"
 
 
 
 
 
 
 
0

 
 
 
 
 
 
 
 
1

th
re
e
 
in
c
h
 
=
 
o
n
e
 
fo
o
t

6
"
 
 

2
/9

/2
0

2
3
 4

:5
5

:1
9

 P
M

AE533

ARCHITECTURAL MILLWORK DETAILS -

RESIDENT ROOM & TOILET ROOM
CONSTRUCT NEW COMMUNITY

LIVING CENTER (CLC)

LEBANON, PENNSYLVANIA

595-601

CLC-1

2023-02-09 JP,MPY LM0499-0124

BID DOCUMENTS

1 1/2" = 1'-0"
F4

RESIDENT ROOM WARDROBE
1 1/2" = 1'-0"

F1
RESIDENT ROOM CABINET

1 1/2" = 1'-0"
B4

RESIDENT ROOM DESK

1 1/2" = 1'-0"
F8

SECTION @ WOOD LEDGE AT MILLWORK
1 1/2" = 1'-0"

F6
SECTION @ WOOD LEDGE AT PORCELAIN TILE

3" = 1'-0"
F9

SECTION @ TLT RM SHELVING NICHE

Revisions: Date:

3" = 1'-0"
B6

PLAN DETAIL @ TLT RM SHELVING NICHE


